

# WHAT IF

your solution for managing wound moisture was simple and safe?



# Zetuvit<sup>®</sup> Plus Silicone Border





### **Effective**

Designed to prevent exudaterelated complications



#### Versatile

Simple to choose, simple to use



## Patient-friendly

Help socially isolated patients regain confidence



"I am currently trialling Zetuvit® Plus Silicone Border, and I am using it on a highly exuding category 4 pressure ulcer. All other dressings have been ineffective in regards to the exudate management. The dressing is managing the exudate well and the dressing is staying in place and not lifting. In addition staff are finding it really easy to apply and remove" Julie Taylor, TVN Cwm Taf Morganwg Health Board, Princess of Wales

UK testimonial

### Simple & intuitive application

Watch how easily **Zetuvit**\* **Plus Silicone Border** can be applied:



# & PATIENT-FRIENDLY

When the benefits of a silicone foam\* meet the benefits of a superabsorber: **Zetuvit**° **Plus Silicone Border** 

Designed to prevent exudate-related complications:



For a wide range of acute and chronic exuding wounds



Keeps exudate locked and users find that it prevents periwound damage [1, 2]



Offers very good absorption and retention performance while maintaining optimal microclimate [1,3]

### Stay up to date

and get the latest information on exudate management on our website:

www.hartmann.co.uk

# Be prepared and prevent exudate-related complications Choose Zetuvit\* Plus Silicone Border

Size	Wound pad	Product code	Pack size	PIP code	NHSSC code
Zetuvit* Plus Silicone Border					
10 × 10 cm	5 × 5 cm	413910	10	4137071	EJA254
12.5 × 12.5 cm	7 × 7 cm	413920	10	4137055	EJA255
17.5 × 17.5 cm	11.5 × 11.5 cm	413930	10	4137063	EJA256
15 × 25 cm	9 × 19 cm	413940	10	4137048	EJA257
20 × 25 cm	14 × 19 cm	413950	10	4137030	EJA258
Zetuvit* Plus Silicone					
8 × 8 cm		413810	10	4065074	EKH85003
12.5 × 12.5 cm		413820	10	4065082	EKH85007
10 × 20 cm		413830	10	4065090	EKH85006
20 × 20 cm		413840	10	4065108	EKH85004
20 × 25 cm		413850	10	4065116	EKH85005



Absorbent core must not be cut. Transparent border can be cut. [4]

[1] Data on file: 27. Z+SilBorder\_benchmark. [2] Barrett, S., M. Rippon, and A. Rogers, Treatment of 52 patients with a self-adhesive siliconised superabsorbent dressing: a multicentre observational study. Journal of Wound Care, 2020 [3] Call, E., et al., Comparing fluid handling and micro-climate conditions under superabsorbent polymer and superabsorbent foam dressings over an artificial wound. WCET Journal, 2019. [5] Data on file: 27. Z+SilBorder\_Add\_Feat\_adhesiveness assessment\_V2. [4] Data on file: 27. Z+SilBorder\_Thickness\_V2. [6] Data on file: External lab testing acc. ISO 22610:2006 PID5759-1/2

HARTMANN UK & Ireland

Unit P2 Parklands, Heywood Distribution Park, Pilsworth Road, Heywood OL10 2TT UK: +44 (0) 1706 363200 Email: info@uk.hartmann.info www.hartmann.co.uk www.hartmanndirect.co.uk



©2023 Paul Hartmann Limited. ® represents a trademark of Paul Hartmann Limited, a company registered in England and Wales (company number 01523121) WM-000016/23-GB Feb 2023 Revision date 27/02/2023